
Metaphysics (MetaPhysics? Meta Physics?)

Idea: sculpture of giant dominoes made up of dice 





–

See spreadsheet I made (in Numbers) 

Title ideas:
Metaphysics 



–
–
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Unmoved mover
First cause / Final cause
Probably inevitable / Probable inevitability 
Inevitable probability 

https://m.alibaba.com/product/62184621859/Wholesale-12mm-14mm-16mm-18mm-20mm.html?
__detailProductImg=https%3A%2F%2Fs.alicdn.com%2F%40sc01%2Fkf%2FHTB1FW.UeoGF3KVjSZ
Fvq6z_nXXa2.jpg_200x200.jpg

Email these people to learn about how universities pick art installations: https://news.stanford.edu/
2021/04/21/alicja-kwade-site-specific-installation-stanford-science-engineering-quad-suggests-
alternate-realities/ 

https://m.alibaba.com/product/62184621859/Wholesale-12mm-14mm-16mm-18mm-20mm.html?__detailProductImg=https%3A%2F%2Fs.alicdn.com%2F%40sc01%2Fkf%2FHTB1FW.UeoGF3KVjSZFvq6z_nXXa2.jpg_200x200.jpg
https://m.alibaba.com/product/62184621859/Wholesale-12mm-14mm-16mm-18mm-20mm.html?__detailProductImg=https%3A%2F%2Fs.alicdn.com%2F%40sc01%2Fkf%2FHTB1FW.UeoGF3KVjSZFvq6z_nXXa2.jpg_200x200.jpg
https://m.alibaba.com/product/62184621859/Wholesale-12mm-14mm-16mm-18mm-20mm.html?__detailProductImg=https%3A%2F%2Fs.alicdn.com%2F%40sc01%2Fkf%2FHTB1FW.UeoGF3KVjSZFvq6z_nXXa2.jpg_200x200.jpg


















































http://gambiter.com/domino/western/math.html

http://gambiter.com/domino/western/math.html
http://gambiter.com/domino/western/math.html
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CHH Dominoes
found on Amazon
asked them directly, but they don’t sell wholesale
they’ll get back to me with info on where else I might be able to find them
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CHH standard domino dimensions: 1.92" x 0.95" x 0.37"
Center of mass at: (0.96”, 0.475”, 0.185”)
Triangle from middle of lower edge to middle of lower side to center of mass has side lengths: 
0.96”, 0.185”, 0.978”
So, angle domino has to tip to be perfectly  in balance is: sin^{-1}(0.185/0.978) = 10.94° = 
0.191 rad
My (small scale) domino will be 10.08” x 20.79” x 2.52”, so displacement (arc) at the top will 
be: 10.94/360 * 2pi(20.94”) = 4.00”

But that’s not from vertical.
IMPORTANT: The above is wrong because my domino of dice doesn’t have the same aspect 
ratio!
REDO, for my domino of dice:

Dimensions: 10.08” x 20.79” x 2.52”
Center of mass at: (5.04”, 10.40”, 1.26”)
Triangle from middle of lower edge to middle of lower side to center of mass has side 
lengths: 10.40”, 1.26”, 10.48”
So, angle domino has to tip to be perfectly in balance is: sin^{-1}(1.26/10.48) = 6.91° = 



–
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0.121 rad
Displacement (arc) at the top will be: 6.91/360 * 2pi(20.94”) = 2.53”

But that’s not from vertical.
Displacement (arc) at the bottom will be: 6.91/360 * 2pi(2.52”) = 0.30”

This is from horizontal.
If I make it 6 dice thick instead of four, to more closely match the CHH domino dimensions:

Dimensions: 10.08” x 20.79” x 3.78”
Center of mass at: (5.04”, 10.40”, 1.89”)
Triangle from middle of lower edge to middle of lower side to center of mass has side 
lengths: 10.40”, 1.89”, 10.57”
So, angle domino has to tip to be perfectly in balance is: sin^{-1}(1.89/10.57) = 10.3° = 
0.180 rad
Displacement (arc) at the top will be: 10.3/360 * 2pi(21.13”) = 3.80”

But that’s not from vertical.
Displacement (arc) at the bottom will be: 10.3/360 * 2pi(3.78”) = 0.69”

This is from horizontal.





https://www.pagat.com/domino/math.html























































Helpful Python library: https://pypi.org/project/hilbertcurve/ 





Construction



























 



Both of the below are Hilbert curves. I like the first because it doesn’t have as boring of regularities 
(the second’s bottom row is all of the same orientation!) and because it has a more consistent mix 
of horizontal/vertical for each row/column so that it’s closer to a perfect square. 









 








